NOTE:

(i)

(ii)

There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language — 30 questions and Punjabi Language - 30
questions. Section A is compulsory and all the sub-sections have to be attempted. There are 90 questions in
total in Section —A in which the Child development and pedagogy is bilingual.

Section B comprises of Mathematics and Science — 60 questions and Social Studies/Social Science — 60
questions. In Section B out of the two sub-sections (Mathematics and Science and Social Studies/Social Science)
only one is to be attempted.The Section — B is bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1-30)

https://www.f

1 | Adevelopmental perspective involves concern with changes occurring over time in:
(1) form (2) rate (3) sequence (4) all of these

1 | feam ufaty A € 5% &5 fan feg Tyd ufseasst o TEfaa &
(1) gy 2)H® (3) M (4) Gudag A9 It

2 | Which one of theories of intelligence advocates the presence of general intelligence ‘g’ and specific
intelligence ‘s’?
(1) Anarchic theory (2) Guilford’s theory of intellect
(3) Spearman’s two factor theory (4) Vernon'’s hierarchical theory

2 | gt &t fausr fAuis Arues g4t ‘g’ W3 fefime g4t s’ & Hgedlt € <a&3 g9eT J1
(1) a3 ATt (2) forzees e gt e fAu’s
(3) AUigH® e e-aradT fAurg (4) TIHE T guTfea fAatg

3 | The thinking process involved in producing an idea or concept that is new, original and useful is termed
as:
(1) creativity (2) innovation (3) intelligence (4) synectics

3 | &=, Hifsa W3 Qudeit fesme A uasT § Uer 995 feu fafax 93 yfgpmr & at »ifwnr wier §
(1) TTEIHTIT (2) 3ts3T (3) gat (4) ArEt&afeaH

4 | Which of the following is NOT an example of discrete variable?
(1) age (2) gender (3) marital status (4) place of residence

4 | fao=t fenw 99 <f G@erges aqt T
(1) G (2) féar (3) feerfoa Afast (4) faarfert &t

5 Ramesh and Ankit have the same 1Q of 120. Ramesh is two years younger than Ankit. If Ankit is 12 years
old, then the mental age of Ramesh is:
(1) 9 years (2) 10 years (3) 12 years (4) 14 years

5 | I w3 #Wfag € 120 € ANTS 1Q J | IHE #ifag 3 € AT =< J1 | #ifaag € €19 12 s 3, It am &
Hsfrar @va &
(1) 9% (2) 10 & (3) 1278 (4) 1478

6 | The transmission of traits from parents to off-springs is called:
(1) environment (2) genes (3) heredity (4) homeostasis

6 | wfimt 3* gfon 39 =t @ AT9 § WHe I8
(1) ufg=a3s (2) e (3) feamz (4) AH-AfE3t

7 Which of the following is NOT an element of learning event?
(1) learner (2) internal conditions (3) stimulus (4) teacher

7 | fagsr fafer-yrust wesT w7 3T 50T T
(1) fafemrast (2) mi3faq TB3 (3) 8<tus (4) mfomys

8 | An appropriate form of assessing students’ performance in practicals is:
(1) interview (2) observation (3) questionnaire (4) written test

8 | ytiar few fefenmradnt € yeans € WEiae 996 € Quuas gu
(1) feeafef (2) fadtye (3) yaaT=8t (4) feudt ydiue

9 | Which of the following is NOT the benefit of integrating student-centred learning into the curriculum?
(1) strengthens student motivation (2) promotes peer communication

.| (3) builds student-teacher relationships (4) hinders discovery/active learning
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fefenaet-afes -yt § usq 5 Ags o faggT g9 a0t T
(1) fefemmagtnt & mifsigaT § HAg3 d9eT T (2) IH-339" AET 578 HE9 § Tu8er I
(3) fefenraet-nfomus Fég arfer gaer 9 (4) g7/fprmits fAfurr-—yrust feg garee geer 9

10

Which one of the following theories view that behavior could be shaped through successive
approximation and reinforcement of responses more nearly approaching desired behavior?
(1) classical conditioning (2) instrumental conditioning

(3) operant conditioning (4) social learning

10

fags fAuts €t feg uasT I fa fewoe § visafna fadesT w3 fefes feeua € wfs faae yfsfon=r &
fegtaes gt gfgmr ar rger 3
(1) IBHET WeIBE  (2) SHIT zasBE (3) Afg wigg®s  (4) AT TR ferm-yrust

11

A process by which a parent assumes that his child’s traits are all positive because one trait is positive
is termed as:

(2) halo effect (2) hawthorne effect

(3) law of effect (4) reverse hallo effect

11

€3 yfepur, fam gt Wl feg 11& 8¢ a5 fa €47 € &% &bt At feimar=t Aramarave 95 fa@fa fea
fermsT Arareana 4, § MuT 95
(1) ufguw ygr= (2) TTHIE ygr= (3) ufge ygr= (4) feudtz =

12

Children with speech impairment can be assisted by:

(1) encouraging them to express thoughts in the classroom
(2) helping him/her to pronounce correct sounds

(3) helping him/her to hear his/her spoken errors

(4) referral to specialist for complete evaluation

12

gz< © feag o8 gfowt &t fan 3gt AorfeaT aist A7 A<t &
(1) 85t & IB™gH feu fegra yare a95 et €3A a3 JaaT
(2) €gF &t Aot gstit T Guras feu AofesT gasT

(3) €gF & mruStrt 39T A few AoTfesT agaT

(4) ydt A9 BTt fenmar a4 IasT

13

The gifted child:
(1) learns rapidly and easily (2) retains what he/she has heard or read without much rote drill
(3) reasons things out (4) attends to stimuli for a shorter period

13

ygTg ger

(1) 34t 5% M3 At 3g7 fwer 9

(2) 7 g A & Afewm 7 ufgmr Jer 7, 67 § 593 ¢ St g 3 fasr we guer
(3) ¥t & 399 I UgueT §

(4) 993 We AN BE Yad @8 fomrs féer J1

14

Which one of the following cues does NOT indicate visual problems in the children?
(1) difficulty in following direction (2) frowning
(3) stumbling (4) unable to estimate distance

14

(1) foerfes & use a9s feg niy (2) f3&at g3 €=
(3) 399 yTET (4) €9t T MAH™S BTG & WG

15

The type of evaluation which is used to monitor learning progress during instruction is called as:
(1) diagnostic evaluation (2) formative evaluation
(3) placement evaluation (4) summative evaluation

15

frAfumr €976 fA'ye €t Yarst § Halea a9s BTt <93t ATet Hatae €t faal § Wue a5

(1) feofsa y&aE (2) TTEIHI HBAS  (3) AHES HBTAS (4) AIBETINT HB oS

16

Which of the following theories identifies four stages of child’s intellectual development (sensory-
motor, pre-operational, concrete operational & formal operational)?

(1) Erickson’s theory of Psycho-social development (2) Freud’s theory of Psycho-sexual development
(3) Jean Piaget’s theory of cognitive development (4) Kohlberg’s theory of moral development
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16 |frgig g9 © dfaa feam it 979 vierg=f € ye'e g9 J (ART-Hed, Yoe-Hu'ad, AgS ATad 3

Sugaa FeEa)
(1) WfdanE € H&-ANTAS fea e frurg (2) IIfem e Ha-féara feam e faatg
(3) 7t fummar & AfgrrsTang feam e fauts (4) Fowgaar e &f3a feam = faars
17 | Images, concepts, symbols & signs, language, muscle activities and brain functions are involved in:
(1) adaptation (2) motor development (3) problem solving (4) thinking process
17 | f&g, garet, yJa w3 g, g7, Adtea arstfeutnt w3 ferrait avon fan feu fsfos 951
(1) MEgBE (2) Yag feam (3) AT &7 TS (4) f§3& yfgmr
18 | The first stage in the learning of a skill is:
(1) precision (2) manipulation (3) coordination (4) imitation
18 | gum3T fA'ys <t ufost Merar &
(1) ufegusT (2) fesg9-gnE3T (3) ITBHS (4) MEIIS
19 | Slow learners whose educational attainment falls below their natural abilities are labeled as:
(1) backward (2) gifted (3) juvenile delinquent (4) mentally retarded
19 | ¥re fafumradt, fagt €t fafumava yust @97 bt Yifgfsa dees=t 3 we 3, @gt & wifwnr wier
(1) Ug= 98 (2) ygu (3) famg-nugrat (4) Wafaa 39 3 Mg T
20 | Which one of the following is the better item of essay type of question?
(1) Discuss Newton’s laws of motion (2) Explain each of Newton’s three laws of motion
(3) What are Newton’s laws of motion? (4) Write note on Newton’s laws of motion

20 | fadg-gut yrs ©f 9039 HeE faust I
(1) faCes € ot € fao Qua gaur agd  (2) fabes € a1t € 3w famnt fes goa & fenrfionr a9

(3) fa€es € arst @ faw ot g&? (4) fa€es € a3t @ fawt €3 &< ey
21 | Special needs education is the type of education:
(1) given to very special people (2) given to persons with disabilities
(3) provided to intelligent people (4) established by colonial masters
21 | ferm (gfemt) § fAfwar €t 87 3, feo fAfenr & faost fami 3
(1) wif3 feim Sa § fest met (2) fagtiarsTet @@ fenastnt § fost wet
(3) UM BT § Yy 13T ATEt (4) gAAETEt HTHedT =28 rETfug
22 | Self study habit can be developed in children by:
(1) citing examples of great people (2) giving lecture on self study
(3) giving your own example (4) making new literature available
22 | gfemt few ne-mfwis &t mreg fan 39t feafna ot a7 Aa<t
(1) HU™& fenmadnt gt Gegst € o (2) AE-mftis Qug Bagg € o
(3) Myet Beggs € & (4) &=t Afgg Qusey ga=T &
23 | Communication with students means:
(1) asking them to do a task (2) exchange of ideas
(3) giving them directions (4) informing them of your idea
23 | fefenradtnt 7% A9 €" H3BT T
(1) 85" & &1 I35 B Myt (2) fegrg zetear
(3) 85" & foerfeat et (4) My fegrat 3 €7 & Bfez aaaT
24 | Which of the following is NOT an example of a concrete concept?
(1) ability (2) chair (3) force (4) motion
24 | fgo=t Ag® ugaT €t §ug9s &4t
(1) Gar3T (2) IIHT (3)98 (4) ISt
25 | Which one of the following is an example of reinforcement?
(1) No Lata, the answer is not 45 (2) Kamla, can’t you help Keerti with her answer
(3) Oh no, as usual, you are wrong (4) Suniti, you have said rightly
25 | gfestaes «t Gerges fagst &
(1) &at 37, €39 45 54T T (2) IHST, &t F Fia3t & €F € €739 feu rorfesT &t a9 Faet
(3) &Jt, IHET =T, IAT IBI T (4) A&, AT St Tt faar I
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26 | When delivering an effective lecture in classroom, a teacher:
(1) establishes an eye contact (2) employs meaningful gestures
(3) stands stationary at lecture stand (4) varies pitch and tone

26 | guHEH few ygreardt Bauq féer sfewr, nfmmua-
(1) »iyt & Augd AETfu3 gger 9 (2) MIEYTS AI3T T YUdT JdeT J
(3) BITT HSF ATOHS Afgg y3er (4) MTUST §T M3 36 & gEFeT gfder J

27 | For introducing a topic in classroom, what activity should a teacher do first?
(1) explain the rationale (2) inform the objectives
(3) tell topic orally (4) write topic on chalkboard

27 | guHgH few fei e ufew e< wet, nifrua § ufost arsifent ot aoat Iiet &
(1) IFT-wOTg & famdT gaaT (2) Gewt &t gU&T Tt
(3) gt few g9 AT (4) TIE9s Gua femr fousT

28 | Motivation begins with needs exists in all of us. The need, that the student would tend to fulfill first
pertains to:
(1) esteem (2) physiological (3) social (4) self actualization

28 | mifgyaa = 3 Hg g7 I fags A3 Arfonrt few feerrs 31 fam 83 § fefenrast A9 3 ufost ydt Tast
g, @ e g fan s & 9
(1) AEGH™S (2) AT (3) A (4) mraH-fAat

29 | An example of media that transports learners to remote places by means of visualized reports is:
(1) educational television (2) educational broadcasts
(3) overhead projector (4) telephone

29 | @w wimnni & €uues, fagar fAfumreent § aaufsd falivet € Arust adt geeest gef 3 & AleT
(1) fAferava esifews (2) fafemmana yags (3) fAg-QuasT Grieg (4) TS

30 | The reading technique that would be employed to locate terms and references in an index or thesaurus is:
(1) key-reading (2) re-reading (3) scanning (4) skimming

30 | yzg& ©t 3Ta1, fAn €1 293" igaHfear Af AH-»79 dF feg uet 3 Aedg B9 o3 dist A=, En g
wye I&
(1) MIHIIYTS UFI  (2) UBI-UF3 (3) puH-fend@ne (4) AOHGT 5T
ENGLISH LANGUAGE - 30 QUESTIONS (31-60)
Read the passage carefully and answer the questions (Q. 31-37) that follow by choosing the best alternative:
What's the computer's mother tongue? Which language does the computer speak? Compuspeak. What is a
conglomeration of computer languages called? Computowers of Babe! Witticisms apart, we do need to
communicate with computers. When the Pentagon wanted a new computer language that could do most of
the routine jobs with ease, it made its scientists look at more than 150 different computer languages that
existed in the United States. After a few months of intensive testing of most of the available languages,
American scientists decided that none of them was suitable for the job. So the US Department of Defense
invented yet another language, making it about the 151st. It then went about searching for a name for the
language. That was not easy either. After going through more than 200 suggested names, the DoD didn't find
anything "precise enough". So, a new female name was picked and the newest computer language was called
ADA. Lady Augusta Ada Lovelace could be considered the world's first computer programmer, the first
software specialist. She was Lord Byron's daughter and the chief inspiration for the world's first computer
engineer, the father of the computer, Charles Stanley Babbage. ADA, the language is quite tough, complex and
highly detailed piece of software and is being adopted to much of the western world's military and space
applications. ADA can work with multiple parameters at one time, is quick, efficient and precise. But the non-
military world does not exactly need ADA to carry on its business. There are about a dozen other more popular
language that fit the bill very well. Though almost all of them seem quite tough, complex and cumbersome to
work on and write with at first sight, they are not tougher than learning a new foreign language and seem
relatively simple once one has a hang of them.

31 | After whom, according to the passage, was ADA named?
(1) Lord Byron (2) Stanley Babbage (3) Augusta Lovelace (4) Pentagon

32 | Why did the Pentagon want a new computer language?
(1) to launch simple defense operations (2) to execute routine tasks
(3) to maintain their schedules (4) all of these
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